

A SUBALGEBRA OF $\text{Ext}_A^{**}(Z_2, Z_2)$

BY A. ZACHARIOU

Communicated by Eldon Dyer, April 4, 1967

Let A be the mod 2 Steenrod algebra and

$$H^{**}(A) = \text{Ext}_A^{**}(Z_2, Z_2)$$

its cohomology. $H^{*,t}(A)$ has been computed up to certain values of $t-s$ by Adams [2], Ivanovski (International Congress of Mathematicians, Moscow (1966)), Liulevicius (unpublished), May [4], [5], Tangora [8]. It is of interest to know any "systematic" phenomena in $H^{**}(A)$.

It is the object of this note to sketch a simple proof of the following result.

THEOREM. $H^{**}(A)$ contains a subalgebra generated by the elements

$$d_0 \in H^{4,18}(A), \quad e_0 \in H^{4,21}(A), \quad g \in H^{4,24}(A)$$

subject to the single relation $e_0^2 = d_0 g$. That is the elements $e_0^i d_0^j g^k$ with $i=0, 1, j \geq 0, k \geq 0$ are linearly independent.

The notation d_0, e_0, g is taken from May [4].

Since obtaining this proof, the author became aware of the work of Mahowald and Tangora [7]. The theorem given above is contained in [7] (except for certain low-dimensional cases, which are clearly known to Mahowald and Tangora). However the author hopes that the present line of proof can be pushed further than is done here.

The line of proof depends on choosing a suitable subalgebra B of A . We take B to be the exterior subalgebra generated by $Sq^{0,1}$ and $Sq^{0,2}$. Then $H^{**}(B)$ is a polynomial algebra on two generators, namely $x = \{[\xi_2]\}$ and $y = \{[\xi_2^2]\}$. (Here we have used the notation of the cobar construction [1].) The inclusion $i: B \rightarrow A$ induces a map

$$i^{**}: H^{**}(A) \rightarrow H^{**}(B).$$

The proof depends on showing that

$$i^{**}d_0 = x^2y^2, \quad i^{**}e_0 = xy^3, \quad i^{**}g = y^4.$$

This evidently shows that the elements $e_0^i d_0^j g^k$ with $i=0, 1, j \geq 0, k \geq 0$ are linearly independent. To obtain the relation $e_0^2 = d_0 g$, we observe that by the above argument, e_0^2 and $d_0 g$ are both nonzero elements of $H^{8,42}(A)$; but by [4, Appendix A], $H^{8,42}(A) = Z_2$. Thus $e_0^2 = d_0 g$. This proves the theorem.